Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

IRegistration No.

Name

Test Venue iON Digital Zone iDZ Jalalpur
Test Time 1:00 PM - 2:00 PM

Test Date 10/07/2019

Section : General Intelligence

Q1 spR gdor @ AR & o€ FR @ A, A & E Al & ) ador ofy

Ans

v

e t

Question ID : 98958017079
Status : Answered
Chosen Option : 2

Q.2 Ueh ahiS UTST #, ROCKET &t TEKROC forar Sirar &1 It urar & DRIVER &t & forar sirem?
Ans  of 1 REVDRI

75 2.REVDRJ
75 3.REUDRI

75 4.RFVDRI

Question ID : 98958017057
Status : Answered
Chosen Option : 1

Q.3 Select the word-pair in which the two words are related in the same way as are the two
words in the following word-pair.




Mumbai : Capital
Ans x 1. Newyork : China

J 2. Yen : Currency
75 3. Hill : High

x 4. Delhi: Tajmahal

Question ID : 98958017063
Status : Answered
Chosen Option : 2

Q4 wE a & B - TR A R g ¥ dwr 6 F WA O Gos 9 #E-8 3E
HTTeRT?

fafia7

X2 3
X35
X4 4

An

Question ID : 98958017074
Status : Answered
Chosen Option: 1

Q.5 Aol ar el d @ i ereg e a8 & g A & 3R G o1erT &1 I 31T 21eg ol A
Ans X" 1. samHTg (ste S1E)
X 2=

\f 3. oia gt (W)

X 4w

Question ID : 98958017065
Status : Answered
Chosen Option : 3

Q.6 SFR 1S4 2017 & AAGR T, at 31 RRTaR 2017 &t IT1g 1 i 91 2= a1?
Ans x1~w

o 2. Rar

/X 3. THar

/X 4. HTeER

Question ID : 98958017067
Status : Answered
Chosen Option : 2

Q.7 <21EE oI Haid 'AYHTEl A IH Rg g s FrHaT'____'H )
Ans X1 o

of 2.




/X 3. wmaf

X 4. shoeih

Question ID : 98958017060
Status : Answered
Chosen Option : 2

Q.8 IfX EAST <kl 180 & &4 # shisag fohar mar @ 3fik NORTH &l 375 & &U d shisdw forar mar &,
@t I sl WTuT & SOUTH <Rl & shigag farar strgm?

Ans X" 1 83
< 2.625
of 3415
75 4.332

Question ID : 98958017058
Status : Answered
Chosen Option : 4

Q.9 fafafaa gafierur wi Id a9 & fog zad o g1 gl &t s & geern @nfgy?
35+7-5x2+25=20

Ans K1 x 3fR-
X 2. +3R-
W 3. +9R=
KX 4 x sk +

Question ID : 98958017068
Status : Answered
Chosen Option : 3

Q.10 ST M &TIR fUar g Q iR A &11 A 3& & M it A &1 S @ T e &2
Ans 1 3d

/X 2. =
v 3.7
X 4=

Question ID : 98958017062
Status : Answered
Chosen Option : 3

Q.11 @ = Ry g §, e are = fsad |, 1 8fiR 11 g g &1 Fuel ot e o= g, st €t
A @R IR AT 9241 @ 31T I g1,ag fAvfa +ifSg for s @1/@ s, =i @1 arfdhes &g
@ SIERUT AT /A &l

HYU:

ot gfifaf o2 &1
1s geft o2 7 &1
ot 32 Ml

fArsenrf:

1. 9ot gfifat A= &1

II. s 2R gfifat &

lIl. S 33 ueft 78 &1

Ans X" 1 a7t foreeRe |1 am 111 SR @A B




7 2. ae e | e aRaT 21
J 3. gt frseRef argeT ahed B
7K 4. ae fFreand | 3R 11 SERT &R B

Question ID : 98958017066
Status : Answered
Chosen Option : 3

Q.12 f=fafaa ) ot 3¢ aifdhe e & Fd ST o J 3 sidsh arsgerter & amditi

1. Jacklight
2. Jacket

3. Jade

4. Joker

5. Jampacked

Ans X" 1.2,3,1,4,5
o 221354
/X 331,254
X 4.1,2,3,4,5

Question ID : 98958017056
Status : Answered
Chosen Option : 2

Q.13 s s @ AgHT Fe &I Far ¥, FEr B e R ¥ S§ 57 Fes & @lelr S ar
g & gy &

s,
.,
.J
.
b !
s,
*,

X

N

Ans

F

[ Question ID : 98958017078




Status : Answered
Chosen Option: 2

Q14 37 Rees 1 g Bwd & 7 3 (X) 3ARRT B R @ gEw f sty a8 )

N

X

Ans

X 3

X 4

<
Q|| (|9 |[&2]| |2

Question ID : 98958017077
Status : Answered
Chosen Option: 2

Q.15 39 G4 ol T FOITH S 1 avg Ha6fda & o9 fon Peafofaa ageog & d@d d@&6fda
gl

(16, 64, 320)
Ans o 1 (10,40, 200)
75 2.(15,60,310)
/X 3.(25,75,125)
#< 4.(15,45,180)

Question ID : 98958017070
Status : Answered
Chosen Option : 1

T Fry & g agfa F R w9 At B2

[




Ans X110
X216
v': 15
X412

Question ID : 98958017076
Status : Answered
Chosen Option : 3

Q17 37 3eeR s @& I S A & T FEEAT G HWAT F T FAF T I?

Ans

Question ID : 98958017075
Status : Answered
Chosen Option: 1

Q.18 I W= &l g fAiuH T 3¢t avg H&fa & i s fRafaf@a ageaa i dwed d@&=6fa

gl
(15, 49, 151)
Ans  of 1.(519,61)
/5 2.(17,55,155)
/< 3.(6,18,37)
/X 4.(25,79,137)

Question ID : 98958017071
Status : Not Answered
Chosen Option : --

Q.19 I HEAT-g™H it g+ o194 &t &g 34t avg Hafda & 99 s fPafafas sen-ga i &




&g i &1

Ans X' 1.12:144

o 211:132
75 3.15:625
/X 4.13:156

Question ID : 98958017069
Status : Answered
Chosen Option: 2

Q.20 Fr=fafE sjen # usi Rrg (?) & T W I 91 31eR-giH SgT?

HE, ?, NK, TQ, BY

Ans "1 UH
K 21K
W 3.0
X 46

Question ID : 98958017061
Status : Answered
Chosen Option : 3

Q.21 F=faf@d ar sier-wggl A & = s1eR-wig e Affa a8 9 o 99 & ok o sremT g1 39
ST JER THE &t A |

Ans  of 1 DGL
75 2.Kos
/X 3.BFJ
/X 4.mQu

Question ID : 98958017064
Status : Answered
Chosen Option: 1

Q.22 39 faehed @l g Sit fi R s1aR-gr § It are Hafda § S gEvT 918R-g Uge MHER-giH &
Teifdd g1

GI:KN::PQ:?

Ans x1_v-|-
X 2.0y
< 3.TX
o 4TV

Question ID : 98958017059
Status : Answered
Chosen Option : 4

Q.23 Fr=faf@a sjen # usi Rrg (?) & U= R H-Ht S sngfi?
12,22,42,72,?

Ans X" 1102




K 2122
/< 3.92
o 4112

Question ID : 98958017072
Status : Answered
Chosen Option : 4

Q.24 fA=fafEd ar et 7 @ fiq d=a] v fAffa adtd @ g A & ok gas o1 &1 ag S
T Sl o TeETett & e &1

Ans X" 1,459
o 2259
/X 3.639
/X 4.189

Question ID : 98958017073
Status : Answered
Chosen Option : 2

Q25 37 a7 M@ FT 9OF FL A DEAET IO F G F TEY F FEY HTOT AT ¥
B, FeATe, drer

Ans

F

v &)

QDO

Question ID : 98958017080
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 A IR guersfew gl uiur (NVHCP) & wad ah AN R AUeERICHF




T I ! UTe e &1
Ans X" 12022

o 22030
/X 3.2028
75 4.2025

Question ID : 98958017529
Status : Not Answered
Chosen Option : --

Q.2 f=fafaad @ fra argr A g1 & A &) &t =ararera fY o enfderiRes v & &=u & eanfae
forar 22

Ans x1@—g
X 2. ama
o 3. ong et
/X 4. uRsTE

Question ID : 98958017530
Status : Answered
Chosen Option : 4

Q.3 Uad dic HIETH- & © 3t f3arst saaer A e fohadh gt fordt 7 oft?
Ans x1gﬁgm

J2.:rcﬁ:r?na?ﬂ

X 3. g e

< 4. Sigm i

Question ID : 98958017521
Status : Answered
Chosen Option : 2

Q.4 ufdrg Fefar AR g feaa 82
Ans X-Lgn;ﬁ

v 2 =

/X 3. TS FegRe,

75 4. e

Question ID : 98958017506
Status : Not Answered
Chosen Option : --

Q.5 U ‘Trie 3 fafor & das i 8?
Ans  off 1. Tt orege Fe

75 2. si zarer <t

/X 3. A Fifeie

7 4. yors gt

Question ID : 98958017522




Status : Not Answered
Chosen Option : --

Q.6 T4 dice i MTEVCYE JFY YUAIE 31T & SR @S IR Sfiar g1

Ans JL%
X 23
/X 3.uim
X 4w

Question ID : 98958017525
Status : Not Answered
Chosen Option : --

Q.7 HiW & Tgf A, TR A 1 T 7Y §?

Ans X 1 fifa @
X 2. g adh
o 3. auf e
/X 4. A ad

Question ID : 98958017515
Status : Not Answered
Chosen Option : --

Q.8 o Shagte 3 wiasf &, e s R g st R e 22
Ans X 1.5 o & forg T Sk Bt e @

75 2.2 R gy yst & e & grer a1 Reh g8

75 3. 2 &Rk & e @

of 4. s ok aTEfn & R ue ok T g T

Question ID : 98958017514
Status : Not Answered
Chosen Option : --

Q.9 fafafaa @ 9 g & 7 oy Ta’il & Saue & fAg e Haaes (Geographical

Indication) vTed forar @2
Ans ( 1. goif
75 2. thetare
/X 3. T

X 4.9

Question ID : 98958017507
Status : Not Answered
Chosen Option : --

Q.10 Tt 3w i Fgfts & ar &, wiedia @i & Aafaf@a 7 @ #9-@ srgeoe # seaa frar

T g?
Ans X" 1. argee 300
75 2. argeRe 290
/X 3. 3= 320




o 4 sgee 280

Question ID : 98958017523
Status : Answered
Chosen Option : 4

Q.11 19 raTed) &, Aea WA # W=t Stieter i T foFet i oft?
Ans X 1 AR TR

75 2. FeE TR AT

W 3. T arfer

X 4. 5Rer agR

Question ID : 98958017519
Status : Answered
Chosen Option: 3

Q.12 SR gEfRYar (SaraifRan) wt 98 A & Y ammdak R fFa ueR & 9 o1 sxaare favar siran
&7

Ans X' 1. sradel o (hiehrd o)
/X 2. AR o (RicteRenet o)
75 3. 3 o (e o)
W 4 T wieh g (T o)

Question ID : 98958017511
Status : Answered
Chosen Option : 2

Q.13 el & deH &, F=faf@a 7 @ fa-ar sy agt a8 82

Ans X" 1.3 uer @ Ay & deret A
o 2. T AR & sRiEraER I wer R 1T ST & deret & w0 # afofd awd &)
75 3. sTeR 1 Gy Sroef AT ) AR @ <iet @ G T
/X 4. I5Tee & ST & GRI SR Y Ieh! AR BRI & Frehrer feam a oy

Question ID : 98958017520
Status : Answered
Chosen Option : 4

Q.14 f=fafa@a d @ g 2reR A 39 siaRfdiy fRer wie= i Asmari & oA, o= 3fSew @
TR Tk S19UTT <kl STO=TTAT AT?

Ans X1 @
W 2 Rt
/X 3.aRw

X 4 e

Question ID : 98958017528
Status : Not Answered
Chosen Option : --

Q.15 2011 & FITUFET & IR, F=fef@a 7 9 fora woa / Feanf@a uder 3 aierar R & ama d




Ans

SERT T U fRan?
X 1. fsia
25 2. i
X 3.5
o 4 @i

Question ID : 98958017517
Status : Answered
Chosen Option: 1

Q.16 fAfFrs-39-reng ynfiier & sk iR IuglT fhy o a1Tet a_er ueTaf & @ uan gl

Ans

v 1w

X 2. s grgom
/X 3T

X 4. RoifRre g

Question ID : 98958017510
Status : Not Answered
Chosen Option : --

Q.17 2019 & 3faR¥ Foie #, Thg TRHR A 60 T FI ATY YT F & g AT 8 F HH FHA
aTell & foIg gras UM STHTE ST IRE Y @1 §H TISTHT Rl AT T FEud

Ans

1A fomar ma g1
25 1. Rsgerat s e e
o 2. s et m-ee T
7% 3. gRen sfmn dierE
75 4. Sfem saify s gter

Question ID : 98958017508
Status : Answered
Chosen Option : 2

Q.18 fA=fafEa & @ fore 2w A Ry ei<ifte Ay @< 2019 & Asrar i «fi?

Ans X" 1 cies

X 2. Rgea

J 3. 3T aTelt

X 4 g

Question ID : 98958017526
Status : Answered
Chosen Option : 3

Q.19 is the only active volcano in South Asia.
Ans

x 1. Narcondam Island
x 2. Tosham Hills

( 3. Barren Island

x 4. Dhinodhar Hills




Question ID : 98958017516
Status : Not Answered
Chosen Option : --

Q.20 Frafafea & @ -1 3 dewme-RAde 2 @2

Ans X1 gl
X 2.8
of 3. sifern
X 4. e

Question ID : 98958017518
Status : Answered
Chosen Option : 3

Q.21 S a1 #, ".au' 3ifaaf<h a1 o1 @ @2
Ans X13-W?3113rr

/X 2. ahh gg

X 3. sfffan

o 4 sitgfrn

Question ID : 98958017513
Status : Answered
Chosen Option : 2

Q.22 "y AR i, Sigia Frewers srflade & fag Suadie aedl-wités srars sfiar, it

dudfa g
Ans X‘].gﬁ'—cﬁf
75 2. drarsh
p R
W 4 et

Question ID : 98958017527
Status : Not Answered
Chosen Option : --

Q.23 sregrEifes wfat 3 wafat gt § st et @it §|

Ans X" 1. 40 kHz @ 3k
o 2. 20 kHz & s
75 3.50 kHz & aifires
/X 4.30 kHz @ 3ifdres

Question ID : 98958017512
Status : Not Answered
Chosen Option : --

Q.24 R Gfur $i 10 ff gy & aga, siwan & faeh off Tewa H srivaar @ defda freht

ft g2, wR, sifaw fofa frads gr1 forar e @2

Ans X" 1. wRd a1 Fafe s
75 2. 9Ra & gl




js‘ 7T, AR
75 4. 9Rd & gl

Question ID : 98958017524
Status : Not Answered
Chosen Option : --

Q.25 “@g:dt o1 A fSierft fFrafafda 4 & fora de &t Trems= 82
Ans x 1. 3T

X 2. Ridiae

V 3. R

/X 4. HRaReE

Question ID : 98958017509
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q.1 g e R TR g e e S T Rk s dsma e A e R w w
ﬁﬁammﬁ§|mmmr:HaﬂTA%|§MWm

Ans x1i
v:!
Xs.%
X4 o

Question ID : 98958017623
Status : Answered
Chosen Option : 3

Q.2 =fx 40 Tew vl 12 g 4 0 gu el 10 1 8 Rl F 907 o W §, A fraw ow wiafed
4 O FH T gO I FH H 16 R F of W w2

e X80
<2 54
V'3 60
X 4 45

Question ID : 98958017606
Status : Answered
Chosen Option : 3

Q.3 Eﬂﬁfé:nguﬁ%%ﬁq%g@iﬁ;ﬁwmﬁraﬁrmmwﬁa:ﬁv,wm#mm
I 4% Fr w7 w7 & AR A W o = H x% B FRE A F oA

Ans J 120




X2 1875
X3 21
X4195

Question ID : 98958017611
Status : Not Answered
Chosen Option : --

4 e § o FiF & v 39RSAT T=A (irrational quantity) 2

(a) tan30° tan60®
(b) sin30°
(c) tand5®
(d) cos30°

Ans % (©)
X2 (a)
X 3. (b)
v (d)

Question ID : 98958017624
Status : Answered
Chosen Option : 4

Q.5 %wgm%%ﬁasﬁmm—mﬁ#mﬁa(thmwn)ﬁzé?n‘ﬁﬁ#ﬁaﬁﬁm%f::rf'c‘rér
39T FETS F 99 B F o0 FA: 0.6 sec R 1 sec o §, A ofy g@y waw v twa afy 96

km/h &, 97 Tger yaT #r twa oy == Eete

Ans 1. 200 km/h
X 2150 km/h
#3100 km/h
v 4160 km/h

Question ID : 98958017607
Status : Answered
Chosen Option : 4

Q.6 uw Trg #7144 F I W gHFEER B 28% B AT G FI T I FH FH 14% 7% o= F B

e FFw @ gem wfgee
Ans 1182

~< 2 3180

X< 3 7156

v F172

Question ID : 98958017612
Status : Answered
Chosen Option : 4

Q.7 Twelve sticks, each of length I unit, are used to form a right-angled triangle. The area of the triangle is:




Ans 1. 10 sq units
/< 2. 4 sq units
/< 3. 8 sq units
+ 4 6 5qunits

Question ID : 98958017608
Status : Answered
Chosen Option : 3

Q.8 sin?21°4cos?19° W B 1 e 2
s5in21°+cos519° +5in"69° + cos71 +secﬁ9“ cosec 71° Sk Hief T ’
Ans x 1.3
X2 1
<34

2

Question ID : 98958017625
Status : Answered
Chosen Option : 2

 frAfafEm # ¥ i @ g 11, 13 3@ 7 ¥ U R 2
(a) 624613
(b) 624624
(c) 624635
(d) 624646

Ans 1 (b)
X2 (a)
< 3 (c)
X 4 (d)

Question ID : 98958017615
Status : Answered
Chosen Option : 1

Q.10 A 3 31 fegaT 2011 & 379y {5 B & 72,000 #r 7f%r =7 o W 3uR & % 37 v&F 39 a1 =W 8%
& WIUROT AT % WA sier d@m fhg A, 1 s 2012 @ & um-uRy sent Fr Ruly # o amr &
30 B Fr o aa-ufEr e 2

Ans 1. 72,070
X 2 32,088
X 332,200
v 4 ¥2,080

Question ID : 98958017614
Status : Answered
Chosen Option : 4




Q11 vgems & wgome X AT Y g B §) e # it R & gwaw @ aea s 1800 s
71000 #1 smea # it Rewr # 6 W 9P T o (Wasdh) F 10% 3R 16% ¥ T e
(Toedh) Fr aF-ufr =t X AR Y F A9 5 ;3 % wuw F ol B e & R o e s
(X 7M) 2012-16 & =T & (A) AR &g (B) 7 Tt qras &1 d@war &1 g g

T 2014 3 2015 Fr FemF X T Y 70 #6T TeT O5F (Taed) F B FR @ H) ¥
Ans X1 41,340
/< 2. 57 550

« 3. 57,000
< 4 41,250

No. of coples sold (in multiples of 100)
e e ST I )

Question ID : 98958017629
Status : Not Answered
Chosen Option : --

Q12 3 .8 (.1 5 3 % B
;O ET{ZE—(;-FEX 1;—;)} EFI'PIEQI%H Al T BIEm?
Ans 2
XL;
K21
1
X3.;
V4

Question ID : 98958017616
Status : Answered
Chosen Option : 4

afrarioz ¥ ar (o + L) B wEw @
Ans X1.730
x 2 319

V'3 322
X 4 780

Question ID : 98958017617
Status : Answered
Chosen Option: 3

Q14 2emiRSeecm AT AT AW A& T Fa F T F X 82 em ¢l Teat T 3@ &
Sarfacs Todtar @ 9 Far gt 3 & & e ardr IoT # o a8 e 2

Ans




<164 ecm
<2 72cm
v': 8 cm

<484 cm

Question ID : 98958017621
Status : Not Answered
Chosen Option : --

Q.15 v gweeEr 37 dR ¥ geiE g F AT ToT W 10% # gE &1 ¥ ve o9 O & ahe sw ar
A gE 3 = AU A & 9w o A9 o & 50% #r T § AR gEd oe, TEer #r 40% F T A
TZ W G I BAGed U T H Fided e
(ST & &7 T g% HEY) 4T @ei?

Ans XK1.14.85
X 213.27
v 16.21

<4 11.25

Question ID : 98958017610
Status : Not Answered
Chosen Option : --

Q.16 wogras F @g-aE" X AT Y @ R o ¥ ane F AR e § 95 @ Aew FEen 7800 N
71000 &1 #Ra # 3 REer # T W oo = o (Taed) FAw 10% 3T 16% 31 & e
(Toedy) & or-a & X AR Y & d9 5 : 3 % e J Bala G s §1 e w9 s
(31T 71%) 2012-16 & cher s (A) 3 fager (B) & by qoow fr wwr & qefie &

&
55
S 5
a5
4 4
35
3

25 mA

L]

ear

woa

No. of coples sold (in multiples of 100)

o = N ow B

w12 2013 2014 2015 016
W

aw 2012, 2013 3K 2016 & e #E= & o= frd a7 = yFs (TUed)) N T A @ H)
[Encilk-v

Ans 1. 2,71,600
X 2 273,400
V'3 3,16,000
X 4.2,72,000

Question ID : 98958017628
Status : Not Answered
Chosen Option : --

Q.17 0 &g 3t v g5 % X ©F AfEA seser ABCDEFGH, @ffa #1 <A0BF 0 2048 1 3

T g

Ans X' 1.4:3
K23:1
<38:3




vi3:2

Question ID : 98958017620
Status : Not Answered
Chosen Option : --

Q.18 10,000/~ r 3 ={FRY, 5 TEra= 3T 6 HFF # =@ IR Ralw B o ¥ F voie aEew ar
T AfHE F I g ae aF-ui & SEET ua-an 9 2@, 3N Sl SHER # UE AfRe # wed
T aTe a4 # A A a0 g @ A SR g ed e - fhder 87

Ans 1. F2,700
v 2 33,600
X 3. 34,000
X 4 32,400

Question ID : 98958017613
Status : Answered
Chosen Option : 2

Q19 g a+b-c=12 A a2+ p* +c2 =110 ¥, o =T § & #i7 @ g9y @ 2
(p)ab + bc + ca = 34,
(qQab+bc—ca=17
(r)yab—bc +ca=17,
(sYab—bc —ca=17

e X1 (p)
v 2 (s)
X3 (q)
X a (n

Question ID : 98958017618
Status : Answered
Chosen Option: 2

2 g T S

guH 101 FEamst & d|g 102 F s 2
Ans X1.g‘|€f,ﬁ|a;

X 2 qOT g9

v ®R

X< 4 Ree

Question ID : 98958017609
Status : Answered
Chosen Option : 3

Q.21




TEEAS H Hg-orme X AN Y g3 fr wr #1 vma 7 A B F o w1 oapw e 1800 Ak
31000 &1 #ea # 3 REwr # Fehr W afom T uow (el Fn 10% 3T 16% 31 7= e
(Toed) H aaaW F X AR Y F 7 5 : 3 F 779w 7 Bofa B s &1 R = w3 s
(31X 7MF) 2012-16 3 R &R (A) AR 3w (B) & el Teow &1 @ & gaie

1
55
5 5
45
4 4
35
25 i A
[ 1:]

2012 2013 014 015 2016

Mow s oW o@m N

No. of copies sold (in multiples of 100)

o =

year

TrafafEe Rftufel # ae T e (o)) & g w0 ¢ -
X Zamr 2013 3y 2014 & sma & qro F by @ st Y g 2015 sk 2016 F e F qret

Fr B F17?

Ans X162 : 117
X263 : 130
X364 : 135
v+ 65 : 138

Question ID : 98958017630
Status : Not Answered
Chosen Option : --

Q.22 feam amam ¢ fF v T o &19%A A §1 gEe TRIERT (perimeter), WA= (inradius), aRfi=mr
(circumradius) 3T FfCawat #r sdtea o8 FAw p, r, R # d §1 39 A p BFEs 78 gem?

Ans X 1 (R—1)r
;2 e
X3 (R+1):d
vir:2

Question ID : 98958017622
Status : Answered
Chosen Option : 4

Q23 g v 7ga T &, AR @ AT & B, sec?6+ 4tan’0 =6 & 6 T A FAT BET?
Ans XK1 60°

v 2 45°

X3 0°

X 4 30°

Question ID : 98958017626
Status : Answered
Chosen Option : 2

Q.24 1 1 1
T, as+bs+ca=0 g a (a+b+ ) EF AT gEM?
Ans X 1. 81 a?b?c?




Vv 2 729 a?h?c?
< 3 81 abc
< 4 729 abe

Question ID : 98958017619
Status : Answered
Chosen Option : 2

Q.25 wogrs w1 @g-eEa X AR Y gE fAn w §) ane # A fae § 9w @ AEw FEen 3800 3N
31000 &1 #a # 3 REwr # T W afom = yew (Taedn) Fn 10% 3T 16% ¥ 7= e
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2012 2013 2014 2015 2016
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2012-2015 & gl g # 3= 713 o & po wEw w4 §?
Ans X7 1. 2000

X 2 1800

v 3 1400

X 4 1600

Question ID : 98958017627
Status : Not Answered
Chosen Option : --

Section : English Language

Q.1 Select the most appropriate word for the given group of words.

Able to adapt to many different functions or activities
Ans X 1. surrogate

J 2. versatile
X 3. deputy
x 4. expert

Question ID : 98958016751
Status : Answered
Chosen Option : 2

Q.2 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. As man's intelligence grew so did his power.

B. This intelligence made him cleverer and stronger than enormous animals which would
otherwise have destroyed him.

C. The chief difference between man and the other animals was the intelligence of man.
D. Combining intelligence with power, man developed weapons to fight his enemies.

Ans X" 1 ACDB

o 2.cBAD




75 3.DABC
/< 4.BCDA

Question ID : 98958016742
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate word for the given group of words.

A person or thing that has the same name as another
Ans J 1. namesake

x 2. relative
x 3. pseudonym
x 4. successor

Question ID : 98958016750
Status : Answered
Chosen Option : 3

Q.4 Select the wrongly spelt word.
Ans X" 1. fomentation

x 2. plateau

J 3. bureaucrecy
x 4. horizontal

Question ID : 98958016753
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Durga is now the Executive Vice- President of the company with a responsibility to
marketing for the entire northern zone.

Ans X" 1. No improvement
x 2. with a responsibility by marketing
x 3. with responsibility from marketing

J 4. with the responsibility of marketing

Question ID : 98958016735
Status : Answered
Chosen Option : 4

Q.6 Select the correctly spelt word.

Ans X" 1. commemmorate
x 2. comemorate
x 3. commemorete

( 4. commemorate

Question ID : 98958016752
Status : Answered




Chosen Option : 4

Q.7 Select the most appropriate word to fill in the blank

The of ancient scientists often made up for the lack of proper equipment.
Ans X" 1 anxiety

x 2. creation

( 3. dedication

x 4. concern

Question ID : 98958016754
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate meaning of the given idiom

put your best foot forward
Ans X" 1. check every step

x 2. take care to dress well
x 3. walk very cautiously

J 4. try as hard as one can

Question ID : 98958016749
Status : Answered
Chosen Option : 3

Q.9 Select the correct indirect form of the given sentence.

"Don't park here,’ the policeman said to them.

Ans x 1. Don't park here he said to the policeman.
x 2. The policeman said to them not to park here.
X 3. The policeman ordered them not to park here.

J 4. The policeman ordered them not to park there.

Question ID : 98958016733
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate synonym of the given word.

RECAPITULATION
Ans ( 1. summary

x 2. movement
x 3. readiness

x 4. prominence

Question ID : 98958016745
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate meaning of the given idiom

at snail's pace




Ans X 1. keep your moves secret
x 2. do something very carefully
J 3. do something very slowly

x 4. be very persistent

Question ID : 98958016748
Status : Answered
Chosen Option: 3

Q.12 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Today, he is popular for creating scaled-down models of automobiles that are not just
showpieces but are working toys.

B. "l used to ride it during playtime in the evenings as a five-year old,' recalls Arun Kumar.
C. As a kid | used to pester my parents for toy cars but my carpenter father often couldn't
afford them.

D. Then, one day he got an old tricycle from the junkyard, made three wooden wheels and
fitted them to the cycle.

Ans X" 1 ACDB
75 2.CADB
o 3.cpBA
75 4.BCDA

Question ID : 98958016743
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate synonym of the given word.

RADIANCE
Ans J 1. sparkle

x 2. dryness
X 3. depth
x 4. redness

Question ID : 98958016744
Status : Answered
Chosen Option: 1

Q.14 Select the correct passive form of the given sentence.

His mother gave him a note for his teacher.

Ans x 1. He had been given a note for his teacher by his mother.
J 2. He was given a note for his teacher by his mother.
x 3. He is given a note for his teacher by his mother.

X 4. His teacher was given a note for his mother.

Question ID : 98958016732
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.




Ans

"I'm afraid | must left now,’ said the guest after the inaugural function was over.
X 1. I'm afraid I can left now

x 2. No improvement
J 3. I'm afraid | must leave now

x 4. I'm afraid | has to be leaving now

Question ID : 98958016734
Status : Answered
Chosen Option: 3

Q.16 Select the most appropriate antonym of the given word.

Ans

RANDOM

x 1. casual
/5 2.irregular
x 3. formal
o 4. specific

Question ID : 98958016747
Status : Answered
Chosen Option : 3

Q.17
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The pattern of birds flocking to Pakhal lake has been observed over several years. So far, (1)

than 190 bird species (2) been identified and this is one of the best (3) in
the state for bird-watchers to (4) . In fact, we can spot (5) 80 species of birds in
a single day.

SubQuestion No : 17
Select the most appropriate option to fill in blank No.1.

W 1. more
75 2.much
X 3. most
x 4. many

Question ID : 98958016737
Status : Answered
Chosen Option : 1

Q.18
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The pattern of birds flocking to Pakhal lake has been observed over several years. So far, (1)

than 190 bird species (2) been identified and this is one of the best (3) in
the state for bird-watchers to (4) . In fact, we can spot (5) 80 species of birds in
a single day.

SubQuestion No : 18
Select the most appropriate option to fill in blank No.2.

Ko 1is
Xz.are




X 3. has
« 4. have

Question ID : 98958016738
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The pattern of birds flocking to Pakhal lake has been observed over several years. So far, (1)

than 190 bird species (2) been identified and this is one of the best (3) in
the state for bird-watchers to (4) . In fact, we can spot (5) 80 species of birds in
a single day.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank No.3.

Ans X" 1 place
x 2. sanctuary
o 3.places
75 4. lake

Question ID : 98958016739
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The pattern of birds flocking to Pakhal lake has been observed over several years. So far, (1)

than 190 bird species (2) been identified and this is one of the best (3) in
the state for bird-watchers to (4) . In fact, we can spot (5) 80 species of birds in
a single day.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank No.4.

Ans  of 1 visit
X 2. visiting
#< 3. visited
X 4. visits

Question ID : 98958016740
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The pattern of birds flocking to Pakhal lake has been observed over several years. So far, (1)

than 190 bird species (2) been identified and this is one of the best (3) in
the state for bird-watchers to (4) . In fact, we can spot (5) 80 species of birds in
a single day.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank No.5.

Ans X' 1 near




X 2. between

J 3. around
X 4. any

Question ID : 98958016741
Status : Not Answered
Chosen Option : --

Q.22 Identify the segment in the sentence which contains the grammatical error.

Deepak said he would pack few things he had and vacate the hostel room the next day.
Ans J 1. pack few things he had

x 2. and vacate the hostel room
x 3. the next day

x 4. Deepak said he would pack

Question ID : 98958016731
Status : Answered
Chosen Option: 3

Q.23 Select the most appropriate antonym of the given word.

SHALLOW
Ans x 1. slight

x 2. narrow
J 3. deep

x 4. crooked

Question ID : 98958016746
Status : Answered
Chosen Option : 3

Q.24 Identify the segment in the sentence which contains the grammatical error.

Even Sharat tried his best, he could not clear all the examination papers in one attempt.
Ans x 1. he could not clear

x 2. all the examination papers
x 3. in one attempt

J 4. Even Sharat tried his best

Question ID : 98958016730
Status : Answered
Chosen Option : 2

Q.25 Select the most appropriate word to fill in the blank

The Board of Directors of the pharma company has approved the
in its wholly- owned subsidiary.

Ans X" 1. enchantment

of investment limits

J 2. enhancement

x 3. enforcement




x 4. entrenchment

Question ID : 98958016755
Status : Answered
Chosen Option : 2




